
 

  

 

          NDA 2 2024 Gat Model Question Paper 

Time: 120 min.            M.M.:600 

INSTRUCTION: Read questions carefully. For each wrong answer, one-third (1.33) of the marks assigned to that 

question will be deducted. Each question contains (4) marks / 

PART - A 

SYNONYMS 

Directions: Each item in this section consists of a 

sentence with an underlined word/words followed by 

four words. Select the option that is opposite in 

meaning to the underlined word/words and mark your 

response on your Answer Sheet accordingly. 

1. My brother„s zest for the new project was 

infectious  

(a) Greed  

(b) Enthusiasm  

(c) Attraction  

(d) Fascination  

2. He has an electrifying presence.  

(a) Attractive  

(b) Fearsome  

(c) Exciting  

(d) Disturbing  

3. The article was so well-written that it merited 

careful study.  

(a) Deserved  

(b) Encouraged  

(c) Prompted  

(d) Supported  

4. Expeditious steps should be taken to complete 

the work in two weeks.  

(a) Unmerciful and punitive  

(b) Strict and forceful  

(c) Disciplinary  

(d) Prompt and efficient  

5. That is not an occasion to make an impromptu 

speech.  

(a) Without preparation  

(b) Thoughtless  

(c) Improper  

(d) Long and boring 

6. There is not a single word that is redundant in the 

report.  

(a) Unimportant  

(b) Not needed  

(c) Bombastic  

(d) Flowery  

7. She adjusted quite well with her husband‟s 

idiosyncrasies.  

(a) Peculiar habits  

(b) Bad habits  

(c) Weaknesses  

(d) Stupid manners 

8.  She takes after her mother.  

(a) Follows  

(b) Comes after  

(c) Resembles  

(d) Imitates  

9. People thronged to pay homage to the departed 

leader.  

(a) Humility  

(b) Tribute  

(c) Obedience  

(d) Allegiance  

10. The collector has yet not relinquish his charge. 

(a) Give up  

(b) Abdicate  

(c) Leave  

(d) Renounce 

ANTONYMS 

Directions: Each item in this section consists of a 

sentence with an underlined word /word followed by 

four words. Select the option that is opposite in the 

meaning to the underline word/words and mark your 

response in answer sheet accordingly. 

11. Though he had lost the battle, he decided not to 

yield to the enemy.  

(a) Submit to  

(b) Persuade  

(c) Resist  

(d) Seek terms with  

12. Mala is always defiant in her behaviour.  

(a) Obedient  

(b) Rebellious  

(c) Meek  

(d) Friendly  

13. Her manner has always been hostile to him. 

(a) Sincere  

(b) Friendly  

(c) Fair  

(d) Good  

14. He fell foul of me when I asked him to apologise 

to his teacher.  

(a) Quarrelled with me  

(b) Attacked me  

(c) Made friends with me  

(d) Showed appreciation for me 



 

  

15. They decided to embellish the dress with 

imported ribbons.  

(a) Dishonour  

(b) Demolish  

(c) Spoil  

(d) Suffice  

16. Her impetuous behaviour was attributed to her 

upbringing.  

(a) Rash  

(b) Poised  

(c) Sluggish  

(d) Aggressive  

17. The two friends were distinct in everything; 

dress, manners, hair-style and food-habits.  

(a) Opposite  

(b) Different  

(c) Uniform  

(d) Similar 

18. Though aware of his crimes, he remained 

impenitent throughout.  

(a) Repentant  

(b) Sorrowful  

(c) Hot – headed  

(d) Pertinent  

19. The consultant analysed the proposal carefully 

before he decided to jettison it.  

(a) Abandon  

(b) Strengthen  

(c) Accept  

(d) Modify  

20. He is showing signs of senility.  
(a) Virility  

(b) Laziness  

(c) Maturity  

(d) Exhaustion 
SPOTTING ERRORS 

Directions: Each item in this section has a sentence 

with three underlined parts labelled (a), (b) and (c) 

Read each sentence to find out whether there is any 

error in any underlined part. Indicate your response in 

the Answer Sheet against the corresponding letter i.e. 

(a) or (b) or (c). If you find no error, your response 

should be indicated as (d). 

21. We had a lot of difficulty(a)/to find (b)/the house 

(c)/ No Error (d)  

(a) We had a lot of difficulty  

(b) To find  

(c) The house  

(d) No Error  

22. Patience as well as perseverance (a)/are 

necessary (b)/for success (c)/ No Error(d)  

(a) Patience as well as perseverance  

(b) Are necessary  

(c) For success  

(d) No Error  

23. The passer-by told us (a)/where was the marriage 

hall (b)/and even led us to it (c)/ No Error(d)  

(a) The passer-by told us 

(b) Where was the marriage hall  

(c) And even led us to it  

(d) No Error  

24. The increase in consumption is directly 

(a)/proportional to the increase (b)/in income 

(c)/No Error (d)  

(a) The increase in consumption is directly  

(b) Proportional to the increase  

(c) In income  

(d) No Error  

25. In Singapore(a)/my brother-in-law with his wife 

(b)/were present at the function (c)/No Error (d) 

(a) In Singapore  

(b) My brother-in-law with his wife  

(c) Were present at the function  

(d) No Error 

COMPREHENSION 

Directions: In this section you have few short passage. 

After each passage you will find itme based on the 

passage. First, read a passage and answer the item 

based on it. You are required to select answer based on 

the contents of the passage and opinion of the author 

only. 

The United Nations Fourth World Women s 

Conference had a colourful start at Beijing on 

September 4th. This is the century s most crucial 

conference which aimed at changing the status quo of 

women s lives characterised by inequality. In a 

preliminary session Ms. Aung Suu Kyi the Nobel Peace 

Prize winner said that expanding women s power will 

bring greater peace and tolerance to the world.“It is not 

the prerogative of men alone to bring light to this world 

Women with their capacity for compassion and self-

sacrifice with their courage and perseverance have done 

much to dissipate the darkness of intolerance and hate" 

said Ms. Suu Kyi.In the afternoon session Ms. Ayako 

Yamaguchi a Japanese delegate launched a petition 

against beauty pageants. “What right do men have to 

evaluate women in a few minutes ? All women are 

beautiful. Beauty is something different for everyone” 

Ms. Ayako Yamaguchi said.“Beauty contests are used 

as trade and exploitation. The training is very vigorous 

but it is the organisers not the women who get the full 

benefit" said Ms. Ranjana Bhargava. "After the 

competition the women become trapped and the abuse 

and the bad things begin. The women are tainted no one 

else will accept them". 

26. The Women s World Conference was very 

important because  

(a) Ms. Aung Suu Kyi has just been awarded the 

prestigious Nobel Peace Prize.  

(b) Ms. Aung Suu Kyi was taking part in the 

Conference.  

(c) Its main purpose was to change inequalities 

between men and women.  

(d) It was to protest against beauty contests.  

27. Which of the following arguments of Ms. Aung 

Suu Kyi is not true?  



 

  

(a) Women also can bring greater peace to the 

world.  

(b) Men cannot claim they have done more for 

peace.  

(c) Women have the capacity for compassion and 

sacrifice.  

(d) Men have done nothing to dissipate 

ignorance.  

28. The main emphasis in Ms. Ayako Yamaguchi s 

argument is  

(a) Men have no right to judge women.  

(b) Men should be given more time to evaluate 

women.  

(c) All women are beautiful in a way.  

(d) Beauty contests are not necessary.  

29. “Beauty is something different for everyone”. 

This statement means  

(a) Beauty is certainly different from ugliness.  

(b) Beautiful women do not mingle with other 

women .  

(c) Beauty cannot be defined adequately  

(d) Each woman is beautiful.  

30.  “Colourful start” in the first sentence refers to 

(a) Participants who were all beautiful.  

(b) A lot of excitement and cheerfulness in the 

conference hall.  

(c) Absence of black coloured girls.  

(d) Flags of various colours outside the 

conference hall. 

Speech is a great blessing but it can also be a great 

curse for while it helps us to make our intentions 

and desires known to our fellows it can also if we 

use it carelessly make our attitudes completely 

misunderstood. A slip of the tongue the use of an 

unusual word or of an ambiguous word may create 

an enemy where we have hoped to win a friend. 

Again different classes of people use different 

vocabularies and the ordinary speech of an 

educated man may strike an uneducated listener as 

showing pride unwillingly we may use a word 

which bears a different meaning to our listeners 

from what it does to men of our own class. Thus 

speech is not a gift to use lightly without thought 

but one which demands careful handling. Only a 

fool will express himself alike to all. 

31. Speech is a great blessing  

(a) If we use it indiscriminately.  

(b) If we use it carefully.  

(c) If we use it to please others.  

(d) If we use it to play one against the other.  

32. Speech can also be a great curse  

(a) If we express ourselves alike to all.  

(b) If we adopt different vocabularies to different 

classes of people.  

(c) If we always try to please every one. with it. 

(d) If we always try to win friends with it.  

33. A slip of the tongue means  

(a) Biting the tongue while speaking.  

(b) Telling lies to defend oneself.  

(c) Using words carelessly.  

(d) Incurring loss of profit in hasty bargain.  

34. The passage reveals that 

(a) The use of ambiguous and unusual words 

brings us friends.  

(b) Careless use of words creates enemies.  

(c) Careful use of words may bring us profit but 

not friends.  

(d) Speech always reflects one s attitudes.  

35. A fool will express himself alike to all kinds and 

conditions of the men because  

(a) He wants to play with people.  

(b) He wants to deceive every one.  

(c) He wants to amuse every one  

(d) He lacks the power of discrimination in the 

use of words 

FILL IN THE BLANK 

Directions: Each of the following sentences int his 

section has a blank space and four words or group of 

words given after the sentences. Select he word or 

group of words consider most appropriate for the blank 

space and indicate your response on the answer sheet 

accordingly. 

36. We all laughed ________ the affair  

(a) Over  

(b) About  

(c) For  

(d) On  

37. The chairman as well as the members ________ 

to blame for this misfortune  

(a) Are  

(b) Were  

(c) Is  

(d) Has  

38. The streets are lighted ________ electricity  

(a) With  

(b) By  

(c) An  

(d) In  

39. Homoeopathic treatment they say cuts ________ 

the need for operation and risk from surgery  

(a) Off  

(b) Out  

(c) Down  

(d) Away  

40. My friends fail to see why I should ride the 

________ horse just because I have won a prize 

(a) Great  

(b) Good  

(c) Big  

(d) High 

IDIOMS & PHRASE 

Directions: Given below are some idioms/phrase 

followed by four alternative meaning to each. Choose 

the response (a), (b), (c), or (d) which is the most 

appropriate expression. 

41. To snap one‟s fingers :  



 

  

(a) To speak abruptly  

(b) To accept immediately  

(c) To grasp eagerly  

(d) To become contemptuous of  

42. To be in abeyance :  

(a) To be in trouble  

(b) Dual minded  

(c) In a fighting mood  

(d) Insuspense  

43. To flog a dead horse :  

(a) To act in a foolish way 

(b) To waste one‟s efforts 

(c) To revive interest in an old subject 

(d) To revive old memories 

44. To keep the ball rolling :  

(a) To earn more and more  

(b) To work constantly  

(c) To keep the conversation going  

(d) To make the best use of  

45. To worship the rising sun :  

(a) To honour a man who is coming into office  

(b) To honour to promising people 

(c) To indulge in flattery 

(d) To welcome the coming events 

REORDERING STATEMENT 

Directions: In this section each item consists of six 

sentences of passage. The first and sixth sentence are 

give in the beginning as S1 and S6. The middle four 

sentences in each have been jumbled up and labelled 

      and    You are required to find the proper 

sequence of the four sentences and mark your response 

accordingly the answer sheet. 

46. S1: Having visited the Taj Mahal many tourists 

think that Agra has little else to offer.  

S6: There are few other buildings to match the 

delicacy of this tomb.  

P: One of these is surely the tomb of 

Itimaduddaulah.  

Q: The design of the whole tomb was given by 

his daughter Nur Jahan.  

R: After seeing the Taj one could profitably visit 

half a dozen other Mughal buildings.  

S: This tomb has the delicacy of a baroque jewel 

case.  

The proper sequence should be  

(a) RSQP  

(b) QSRP  

(c) SPRQ  

(d) RPSQ  

47. S1: For years the old chair stood in one of the 

empty antics.  

S6: I saw my parents madly in love again.  

P: So when I saw it for the last time, it stood 

there.  

Q: When my mother died, I wanted to sell it but 

could not.  

R: It was there for many years after my father 

died.  

S: I peeped in the past.  

The proper sequence should be  

(a) PQRS  

(b) SRQP  

(c) RPQS  

(d) RQPS  

48. S1: Illness may start with almost any sign, but 

some of them are much commoner than others. 

S6: As soon as this happens he must become 

alert about the signs.  

P: It is important to note these signs.  

Q: Often the first sign of something wrong is that 

the patient just does not feel fit.  

R: They may help a doctor to decide what is 

wrong.  

S: He usually relies on these signs for the 

diagnosis of the illness.  

The proper sequence should be  

(a) PRSQ  

(b) RSQP  

(c) PQSR  

(d) QRSP  

49. S1: Newton was perhaps the greatest scientist 

that ever lived.  

S6: Newton went home and worked quietly by 

himself for about 18 months.  

P: But when he was only 22, a terrible plague 

epidemic swept over England.  

Q: He was the son of a Lincolnshire fanner and 

was born in 1642.  

R: Therefore, the universities were closed.  

S: He went to Cambridge to study Mathematics 

when he was 19.  

The proper sequence should be  

(a) SPRQ  

(b) QPSR  

(c) SQPR  

(d) QSPR  

50. S1: Poverty is a God‟s curse.  

S6: Is not poverty a God‟s boon!  

P: These persons get themselves enrolled as poor 

persons and get all the benefits of poverty.  

Q: It is not necessary for a person to be actually 

poor for getting enrolled because it can be easily 

managed.  

R: It may be true for a few but to many it is just 

its opposite.  

S: Such persons consider it to be a source of 

enjoying life without earning enjoyment.  

The proper sequence should be  

(a) RQPS  

(b) QRSP  

(c) RSPQ  

(d) SRQP 

PART – II 

51. Kushans belongs to which tribe/ dq"kk.k fdl 

tutkfr ds gSa 

(a) Yuchi/ ;qph 



 

  

(b) Terai/ rjkbZ 

(c) Ikswaku/ b{okd  

(d) Jnatrika/ Kkf=dk 

52. Who was „Kanthaka‟ in the context of Gautam 

Buddha?/ xkSre cq) ds lanHkZ esa ^daBd^ dkSu Fks\ 

(a) Charioteer / lkjFkh 

(b) Body-guard / vaxj{kd 

(c) Cousin / ppsjk HkkbZ 

(d) Horse / ?kksM+k 

53. The rulers of which dynasty were first to make 

land grants to Brahmanas?/ fdl jktoa'k ds 'kkldksa 

us lcls igys czkã.kksa dks Hkwfe vuqnku fn;k Fkk\ 

(a) Maurya / ekS;Z 

(b) Sunga / lqaxk 

(c) Satvahana/ lkrokgu 

(d) Kanvas/d.ol 

54. Battle of the Hydaspes was fought between 

Alexander and King Porus in 326 BC. Hydapses 

means which river?/ gkbMsLisl dk ;q) 326 bZlk iwoZ 

esa fldanj vkSj jktk iksjl ds chp yM+k x;k FkkA 

gkbMsfIll dk eryc dkSu lh unh gS\ 

(a) Jelum/tsye 

(b) Indus/fla/kq 

(c) Beas/C;kl 

(d) Ravi/jfo 

55. Todarmal is associated with the revenue system 

known as/ VksMjey dk laca/k jktLo O;oLFkk ls gS 

ftls dgk tkrk gS  

(a) Kankut / dadqr 

(b) Ghalla Bakshi / ?kYyk c['kh 

(c) Zabti or Zabt / tCrh ;k tCr 

(d) Nasaq / uklkd 

56. The original name of Tansen, the greatest 

musician of the court of Akbar, was / vdcj ds 

njckj ds egkure laxhrdkj rkulsu dk ewy uke Fkk 

(a) Makaranda Pandey / edjan ikaMs 

(b) Ramatanu Pande / jkeruq ikaMs 

(c) Haridas / gfjnkl 

(d) Lal Kalawant / yky dykoar 

57. Akbar granted the present site of Amritsar to the 

Sikh Guru / vdcj us ve`rlj dk orZeku LFky fl[k 

xq# dks ns fn;k 

(a) Amar Das / vej nkl 

(b) Angad Dev/ vaxn nso 

(c) Hargobind ji / gjxksfcan th 

(d) Arjan Dev/ vtZu nso 

58. Mansabdari System was founded by Akbar. The 

Mansabdars were / eulcnkjh çFkk dh LFkkiuk 

vdcj us dh Fkh- eulcnkj Fks 

(a) Military commanders/  lSU; dekaMj 

(b) Provincial governors / çkarh; xouZj 

(c) High civil and military officers / mPp ukxfjd 

vkSj lSU; vf/kdkjh 

(d) All of the above / mijksä lHkh 

59. During the course of his numerous invasions, 

Muhammad Ghori (Before his conquest in the 

Second Battle of Tarain) was defeated by/ vius 

dbZ vkØe.kksa ds nkSjku] eqgEen xksjh ¼rjkbZu dh nwljh 

yM+kbZ esa fot; ls igys½ fdlds }kjk ijkftr gqvk Fkk\  

(a) Chalukya king Bhima II of Gujarat / xqtjkr ds 

pkyqD; jktk Hkhe f}rh; 

(b) Prithviraja Chauhan III of Ajmer / vtesj ds 

i`Fohjkt pkSgku r`rh; 

(c) Both (a) and (b) above / mijksä ¼,½ vkSj ¼ch½ 

nksuksa 

(d) (b) and the Chandela king Paramardi /¼ch½ vkSj 

pansy jktk ijekMhZ 

60. It is said that Muhammad-bin-Bakhtiyar Khalji, 

one of the commanders of Muhammad Ghuri, 

conquered Nadia (one of the capitals of Bengal) 

with only 18 horsemen. The king of Bengal who 

then fled barefoot from his palace was / ,slk dgk 

tkrk gS fd eqgEen xkSjh ds dekaMjksa esa ls ,d 

eqgEen&fcu&cf[r;kj f[kyth us dsoy 18 ?kqM+lokjksa 

ds lkFk ukfn;k ¼caxky dh jkt/kkfu;ksa esa ls ,d½ ij 

fot; çkIr dh FkhA caxky dk jktk tks rc vius egy 

ls uaxs iSj Hkkx x;k Fkk 

(a) Samantasena / lkearlsuk 

(b) Hemantasena / gsearlsuk 

(c) Ballalasena / cYykylsuk 

(d) Lakshamanasena/  y{e.klsu 

61. Who among the following founded the 

Rajahmundri Social Reform Association in 1878 

in support of widow remarriage?/ fuEufyf[kr esa ls 

fdlus fo/kok iqufoZokg ds leFkZu esa 1878 esa jkteqanjh 

lks'ky fjQ‚eZ ,lksfl,'ku dh LFkkiuk dh\ 

(a)  Vishanshastri Pandit / fo'ku'kkL=h iafMr 

(b) Ishwar Chandra Vidyasagar / bZ'oj paæ 

fo|klkxj  

(c) Pandita Ramabai / iafMrk jekckb 

(d) Veeresalingam Pantulu  /  ohjs'kfyaxe iarqyq 

62. Who among the following was associated with 

the Gudem Rampa Rebellion?/ fuEufyf[kr esa ls 

dkSu xqMse jEik foæksg ls tqM+k Fkk\   

(a) Birsa Munda / fcjlk eqaMk 

(b) Kushal Konwar  / dq'ky dksaoj 

(c) Alluri Sitarama Raju / vYywjh lhrkjke jktw 

(d) Mangal Pandey   / eaxy ikaMs 

63. Which one of the following associations was 

founded in London by Dadabhai Naoroji in 

1866?  / fuEufyf[kr esa ls fdl laLFkk dh LFkkiuk 

1866 esa nknkHkkbZ ukSjksth us yanu esa dh Fkh\ 

(a) The Bengal British India Society /  n caxky 

fczfV'k bafM;k lkslkbVh 

(b) The East India Association / bZLV bafM;k 
,lksfl,'ku 

(c) The British Indian Association /  fczfV'k bafM;u 

,lksfl,'ku 

(d) The Madras Native Association/   eækl usfVo 

,lksfl,'ku  

64. Which one of the following Statements about 

Bipin Chandra Pal is correct? / fcfiu paæ iky ds 

ckjs esa fuEufyf[kr esa ls dkSu lk dFku lgh gS\  



 

  

(a) He was a member of the moderate group of 

Congress / og dkaxzsl ds mnkjoknh lewg ds lnL; Fks 

(b) He was a member of the extremist group of 

Congress / og dkaxzsl ds mxzoknh lewg dk lnL; Fksa 

(c) He was the Minister of Defence in the first 

Government of independent India / og Lora= Hkkjr 
dh igyh ljdkj esa j{kk ea=h Fks 

(d) He was the chief Minister of West Bengal /   
og if'pe caxky ds eq[;ea=h Fks 

65. During the Swadeshi movement, a National 

College was started in Calcutta under the 

principalship of  / Lons'kh vkanksyu ds nkSjku dydÙkk 

esa fdlds çkpk;Z ds v/khu ,d us'kuy d‚yst 'kq: 

fd;k x;k Fkk 

(a) Rabindranath Tagore / johUæukFk VSxksj 

(b) Aurobindo Ghosh / vjfcanks ?kks"k 

(c) Rajani Kant Sen / jtuh dkar lsu 

(d) Syed Abu Mohammad/ lS;n vcw eksgEen 

66. A cyclist travels with a speed of 30 km/h in first 

20 minutes and with the speed of 40 km/h in the 

next 15 minutes. The average speed of the cyclist 

is/ ,d lkbfdy pkyd igys 20 feuV esa 30 km/h dh 

xfr ls vkSj vxys 15 feuV esa 40 km/h dh xfr ls 

;k=k djrk gSS lkbfdy pkyd dh vkSlr xfr fdruh 

gS\ 

(a) 
   

 
       

(b) 
   

 
      

(c) 
   

 
      

(d) None 

67. An electric bulb is rated as 220 V and 80 W. 

When it is operated on 110 V, the power rating 

would be/ ,d fo|qr cYc 220 V vkSj 80 W ds :Ik 

esa fu/kkZfjr gS tc bls 110 V ij izpkfyr fd;k tkrk 

gS] rks “kfDr fu/kkZj.k D;k gksxk\  

(a) 80 W 

(b) 60 W 

(c) 40 W 

(d) 20 W 

68. Three blocks of mass 3 kg, 2 kg, and 1 kg 

respectively are placed in contact with each other 

on a smooth horizontal surface as shown in the 

figure. A horizontal force of 18 N is applied on 

the 3 kg block. Find the net force on the 2 kg 

block/uhps fn, x, fp= ds vuqlkj 3 kg, 2 kg vkSj 1 

kg nzO;eku okys rhu xqVdksa dks ijLij laidZ esa ,d 

{kSfrt fpduh lrg ij j[kk x;k gS 3 kg okys xqVds 

ij 18 N dk ,d {kSfrt cy yxk;k tkrk gSA 2 kg 

okys xqVds ij yxus okys ifj.kkeh cy dk eku crkb,A 

 
(a) 18 N 

(b) 6 N 

(c) 9 N 

(d) 0 N 

69. Double-convex lens are to be manufactured from 

a glass of refractive index 1.55, with both faces 

of the same radius of curvature. Find the radius 

of curvature required if the focal length is to be 

30 cm?/ nksgjs &mÙkj ysal dks oØrk dh leku f=T;k 

ds nks eq[kksa ds lkFk viorZd lwpdkad 1-55 okys ,d 

dkap ls cuk;k tkuk gSA ;fn Qksdl nwjh 30 cm gksuh 

gS] rks vko”;d oØrk dh f=T;k Kkr dhft,A 

(a) 22 cm 

(b) 33 cm 

(c) 44 cm 

(d) 55 cm 

70. A person is using lenses of power +2 D in his 

spectacles for both his eyes. It means person is 

suffering from/dksbZ O;fDr vius p”es esa nksuksa us=ksa ds 

fy, +2 D +{kerk ds yslksa dk mi;ksx dj jgk gSA 

bldk ;g rkRi;Z gS fd og O;fDr& 

(a) Myopia and the focal length of the lenses 

used is 50 cm/ek;ksfi;k vkSj ç;qä ysal dh Qksdy 

yackbZ 50 lseh g 

(b) Myopia and the focal length of the lenses 

used is 5.0 m/ek;ksfi;k vkSj ç;qä ysal dh Qksdy 

yackbZ 5-0 ehVj gS 

(c) Hypermetropia and the focal length of the 

lenses used is 5.0 m/gkbijesVªksfi;k vkSj ç;qä ysal 

dh Qksdy yackbZ 5-0 ehVj gS 

(d) Hypermetropia and the focal length of the 

lenses used is 50 cm./ gkbijesVªksfi;k vkSj ç;qä ysal 

dh Qksdy yackbZ 50 lseh gSA 

71. An electron enters a uniform magnetic field at 

right angles to it as shown. The direction of force 

acting on the electron is (consider the plane of 

the page to be horizontal)/ ,d bysDVª‚u ,d leku 

pqacdh; {ks= esa ledks.k ij ços'k djrk gS tSlk fd 

fn[kk;k x;k gSA bysDVª‚u ij yxus okys cy dh fn'kk 

gS ¼i`"B ds ry dks {kSfrt ekusa½ 

 
(a) Vertically upward/ yacor Åij dh vksj 

(b) Vertically downward/ yacor uhps dh vksj 

(c) To the right/ nkbZa vksj 

(d) To the left/ ckbZa vksj 

72. A particle on the earth's surface is given a 

velocity equal to its escape velocity. Its total 

mechanical energy will be./ i`Foh dh lrg ij ,d 

d.k dks mlds iyk;u osx ds cjkcj osx fn;k tkrk gSA 

bldh dqy ;kaf=d ÅtkZ gksxh- 

(a) Negative/udkjkRed 

(b) Positive/ldkjkRed 

(c) Zero/'kwU; 

(d) Infinite/vuar 

73. A current of 5 A flows through an electrical 

appliance when the potential difference of 50 V 



 

  

is applied across its terminals. What will be the 

current drawn by the appliance if the potential 

difference is increased to 110 V?/ fdlh fo|qr 

midj.k ds VfeZuyksa ij 50 A dk foHkokUrj ykxw djus 

ij mlesa 5 A /kkjk çokfgr gksrh gSA ;fn foHkokUrj 

110 V rd c<+k fn;k tk, rks midj.k }kjk [khaph xbZ 

/kkjk D;k gksxh\ 

(a) 25 A 

(b) 5 A 

(c) 11 A 

(d) 10 A 

74. The escape velocity on Earth is           . 
What would be the escape velocity on a planet 

whose mass is 1000 times and whose radius is 10 

times that of the earth?/ ìFoh ij iyk;u osx 

           gSA ml xzg ij iyk;u osx D;k gksxk 

ftldk æO;eku 1000 xquk gS vkSj ftldh f=T;k iF̀oh 

ls 10 xquk gS\ 

(a)           
(b)            
(c)           

(d)           

75. Find the power (in W) of a pump if it can lift 1 

tone of water by 90 m in 30 minutes. (Assume 

100% efficiency and use           )/ ,d iai 

dh 'kfä ¼ W esa½ Kkr dhft, ;fn ;g 30 feuV esa 1 

Vu ikuh 90 ehVj rd mBk ldrk gSA ¼100% n{krk ekusa 

vkSj            dk mi;ksx djsa½ 

(a) 50 

(b) 250 

(c) 25 

(d) 500 

76. Look at the graphs (a) to (d) carefully and state, 

with reasons, which of these cannot possibly 

represent one-dimensional motion of a particle./ 

xzkQ (a)  ls (d) dks /;ku ls ns[ksa vkSj dkj.k lfgr 

crk,a fd buesa ls dkSu lk laHkor% fdlh d.k dh 

,d&vk;keh xfr dk çfrfuf/kRo ugha dj ldrk gSA 

 
(a) a, b not possible / a, b laHko ugha gS 

(b) a, b, c not possible/ a, b, c laHko ugha gS 

(c) a, b & d not possible/ a, b vkSj d laHko ugha gS 

(d) All are not possible/ lHkh laHko ugha gSa 

77. A bicyclist comes to a skidding stop in 10 m. 

During this process, the force on the bicycle due 

to the road is 200 N and is directly opposed to 

the motion. The work done by the cycle on the 

road is:/ ,d lkbfdy pkyd 10 ehVj ij fQlydj 

#drk gSA bl çfØ;k ds nkSjku] lM+d ds dkj.k 

lkbfdy ij yxus okyk cy 200 N gS vkSj xfr ds 

lh/ks foijhr gSA lM+d ij lkbfdy }kjk fd;k x;k 

dk;Z gS% 

(a)         
(b)        
(c) Zero 

(d)          
78. Find the cost of electricity consumed on an 

electric heater of 1500 Watt which is used for 3 

hrs. daily in the month of November. Given that 

the cost of electricity is Rs 4 per unit./ 1500 o‚V 
ds fo|qr ghVj ij [kpZ dh xbZ fctyh dh ykxr Kkr 

dhft, ftls 3 ?kaVs rd mi;ksx fd;k tkrk gSA uoacj 

ekg esa çfrfnu- ;g ns[krs gq, fd fctyh dh ykxr 4 

#i;s çfr ;wfuV gSA 

(a) Rs 600 

(b) Rs 540 

(c) Rs 450 

(d) Rs 900 

79. A sphere of mass 2kg strikes another sphere of 

mass 3 kg at rest with a velocity of 5 m/s. if they 

move together after collision. What is their 

common velocity?/ 2 fdxzk æO;eku dk ,d xksyk 3 

fdxzk æO;eku ds nwljs xksys ls 5 ehVj@lsdsaM ds osx 

ls Vdjkrk gSA ;fn os VDdj ds ckn ,d lkFk pyrs 

gSaA mudk lkekU; osx D;k gS\ 

(a)       
(b)       
(c)       
(d)       

80. A machine gun fires 10 bullets per minute. Each 

bullet has a mass of 50 grams and travels at 300 

m/s. What is the power of the gun?/ ,d e'khu xu 

çfr feuV 10 xksfy;ka nkxrh gSA çR;sd xksyh dk 

æO;eku 50 xzke gS vkSj ;g 300 ehVj@lsdsaM dh xfr 

ls pyrh gSA canwd dh rkdr D;k gS\ 

(a)       

(b)       

(c)       

(d)        

81. Find the efficiency of a pump (rated 400 W) that 

can lift 500 kg of water by 30 m in 10 minutes. 

(Use           )/ ,d iai ¼jsVsM 400 W½ dh 

n{krk Kkr dhft, tks 10 feuV esa 500 fdyksxzke ikuh 

30 ehVj rd mBk ldrk gSA ¼           )/  dk 

ç;ksx djsa½ 

(a)        

(b)        

(c)        

(d)        

82. ____________ is an device used to determine the 

relative density of liquids./ ____________ ,d 

midj.k gS ftldk mi;ksx rjy inkFkksaZ ds lkis{k ?kuRo 

dks fu/kkZfjr djus ds fy, fd;k tkrk gSA 

(a) Hydrometer/ gkbMªksehVj 

(b) Anemometer/ ,uheksehVj 

(c) Manometer/ eSuksehVj 

(d) Speedometer/ LihMksehVj 



 

  

83. Which type of wire is used in electrical earthing 

for immediate discharge of electrical energy 

directly in to earth?/ fo|qr ÅtkZ dks lh/ks iF̀oh esa 

rqjar çokfgr djus ds fy, fo|qr vfFkaZx esa fdl çdkj 

ds rkj dk mi;ksx fd;k tkrk gS\ 

(a) Wire with high resistance/ mPp çfrjks/k okyk 

rkj 

(b) Wire with low resistance/ de çfrjks/k okyk rkj 

(c) Wire with high resistance/ mPp çfrjks/k okys 

rkj 

(d) Wire with low conductance/ de pkydrk okyk 

rkj 

84. A sound wave has a frequency of 3.5 kHz and 

wavelength 0.1 m. How long will it take to travel 

700 m?/ ,d /ofu rjax dh vkof̀Ùk 3-5 kHz vkSj 

rjaxnS?kZ~; 0-1 m gSA 700 ehVj dh nwjh r; djus esa 

fdruk le; yxsxk\ 

(a) 1.5 s 

(b) 2.0 s 

(c) 3.0 s 

(d) None of the above/ mijksä esa ls dksbZ ugha 

85. Which of the following is an intensive variable?/ 
fuEufyf[kr esa ls dkSu lk ,d xgu pj gS\ 

(a) Internal energy/ vkarfjd ÅtkZ 

(b) Temperature/ rkieku 

(c) Mass/ ekl 

(d) None of the above/ mijksä esa ls dksbZ ugha 

86. In which of the following phenomenon heat 

convection does not take place/ fuEufyf[kr esa ls 

fdl ?kVuk esa Å"ek laogu ugha gksrk gS\ 

(a) Land and sea breeze/ Hkwfe vkSj leqæh gok 

(b) Boiling of water/ ikuh dk mcyuk 

(c) Heating of glass surface due to filament of the 

bulb/ cYc ds fQykesaV ds dkj.k dkap dh lrg dk xeZ 

gksuk 

(d) Air around the furnace/ Qjsal ds pkjksa vksj gok 

87. The material used in the manufacture of cooker 

must have (K-coefficient of thermal 

conductivity, S. specific heat of material used)/ 
dqdj ds fuekZ.k esa mi;ksx dh tkus okyh lkexzh esa 

¼FkeZy pkydrk dk K- xq.kkad S. ç;qä lkexzh dh 

fof'k"V Å"ek½ gksuh pkfg, 

(a) High   and low  / mPp   vkSj fuEu   

(b) Low   and low  / fuEu   vkSj fuEu   

(c) High   and high  / mPp   vkSj mPp   

(d) Low   and low  / fuEu K vkSj fuEu S 

88. The amount of heat required in converting 1 g ice 

at -10 degree C into water at 10 degree C will be/ 
&10 fMxzh lsfYl;l ij 1 xzke cQZ dks 10 fMxzh 

lsfYl;l ij ikuh esa ifjofrZr djus ds fy, vko';d 

Å"ek dh ek=k gksxh 

(a) 100 cal 

(b) 95 cal 

(c) 110 cal 

(d) 80 cal 

89. Suppose there is a hole in a copper plate. On 

heating the plate, diameter of hole, would/ eku 

yhft;s rkacs dh IysV esa ,d Nsn gS- IysV dks xeZ djus 

ij Nsn dk O;kl] gks tk;sxk 

(a) Always increase/ ges'kk o`f) djsa 

(b) Always decrease/ ges'kk de djsa 

(c) Always remain the same/ ges'kk ,d tSls gh jgks 

(d) None of these / buesa ls dksbZ ugha 

90. Which of the following statements is correct?/ 
fuEufyf[kr esa ls dkSu lk dFku lgh gS\ 

(a) The acceleration due to gravity is same at the 

equator and the poles/ xq#Rokd"kZ.k ds dkj.k Roj.k 

Hkwe/; js[kk vkSj /kqzoksa ij leku gS 

(b) The acceleration due to gravity is maximum 

at the poles/ xq#Rokd"kZ.k ds dkj.k Roj.k /kqzoksa ij 

vf/kdre gksrk gS 

(c) The acceleration due to gravity is least at the 

poles/ xq#Rokd"kZ.k ds dkj.k Roj.k /kqzoksa ij lcls de 

gksrk gS 

(d) None of the above/ mijksä esa ls dksbZ ugh 

91. Which of the following factors impact Rupee-

Dollar exchange rate?/ fuEufyf[kr esa ls dkSu lk 

dkjd #i;k&M‚yj fofue; nj dks çHkkfor djrk gS\ 

1. Inflation/eg¡xkbZ 

2. Political instability on economy/vFkZO;oLFkk ij 

jktuhfrd vfLFkjrk 

3. Current Acrrount Deficit/ pkyw [kkrk ?kkVk 

4. External debt/ cká _.k 

Select the correct code:/ lgh dksM pqusa% 

(a) 1 and 2 only/ dsoy 1 vkSj 2 

(b) 2, 3 and 4 only/ dsoy 2] 3 vkSj 4 

(c) 1, 3 and 4 only/ dsoy 1] 3 vkSj 4 

(d) 1, 2, 3 and 4/ 1] 2] 3 vkSj 4 

92. The cash reserve ratio refers to/ udn vkjf{kr 

vuqikr dks lanfHkZr djrk gS 

(a) The share of Net Demand and time liabilities 

that banks have to hold as liquid assets/ 'kq) ekax 

vkSj le; nsunkfj;ksa dk fgLlk tks cSadksa dks rjy laifÙk 

ds :i esa j[kuk gksrk gS 

(b) The share of Net Demand and time liabilities 

that banks have to hold as balances with the RBI/ 
'kq) ekax vkSj le; nsunkfj;ksa dk fgLlk tks cSadksa dks 

vkjchvkbZ ds ikl 'ks"k jkf'k ds :i esa j[kuk gksrk gS 

(c) The share of Net demand and time liabilities 

that banks have to hold as part of their cash 

reserves/ 'kq) ekax vkSj le; nsunkfj;ksa dk fgLlk tks 

cSadksa dks vius udnh HkaMkj ds fgLls ds :i esa j[kuk 

gksrk gS 

(d) The ratio of cash holding to reserves of 

banks/ cSadksa ds udnh HkaMkj dk vuqikr 

93. Which one of following is not correct about the 

Repo rate?/ jsiks nj ds ckjs esa fuEufyf[kr esa ls dkSu 

lk lgh ugha gS\ 

(a) It is the interest rate charged by the Central 

Bank on overnight loan/ ;g dsaæh; cSad }kjk 

jkf=dkyhu _.k ij yh tkus okyh C;kt nj gS 

(b) It is the interest rate paid by the commercial 

banks on overnight borrowing/ ;g okf.kfT;d cSadksa 

}kjk jkrksajkr m/kkj ij nh tkus okyh C;kt nj gS 



 

  

(c) It is the interest rate agreed upon in the loan 

contract between a commercial bank and the 

Central Bank/ ;g ,d okf.kfT;d cSad vkSj dsaæh; cSad 

ds chp _.k vuqca/k esa lger C;kt nj gS 

(d) It is the cost of collateral security/  ;g 
laikf'kZ~od lqj{kk dh ykxr gS 

94. An individual investor who invests in the e-

project usually during an early stage is/,d 

O;fäxr fuos'kd tks bZ&çkstsDV esa vkerkSj ij 'kq#vkrh 

pj.k esa fuos'k djrk gS 

(a) Corporate strategic investor/ d‚iksZjsV j.kuhfrd 

fuos'kd 

(b) Founder capital/ laLFkkid iwath 

(c) Angle investor/ dks.k fuos'kd 

(d) Venture capital/ m|e iwath 

95. Which one of the following statements about the 

Finance Commission, Periodically established by 

the Government of India, is NOT true?/ Hkkjr 
ljdkj }kjk le;&le; ij LFkkfir foÙk vk;ksx ds 

ckjs esa fuEufyf[kr esa ls dkSu lk dFku lR; ugha gS\ 

(a) It recommends distribution of taxes between 

the Union and the states/ ;g la?k vkSj jkT;ksa ds chp 

djksa ds forj.k dh flQkfj'k djrk gS 

(b) It recommends the principles governing the 

grants – in– aid of revenues of states/ ;g jkT;ksa ds 

jktLo ds lgk;rk vuqnku dks fu;af=r djus okys 

fl)karksa dh flQkfj'k djrk gS 

(c) It recommends measures to augment the 

consolidated fund of a state/;g fdlh jkT; dh 

lesfdr fuf/k dks c<+kus ds mik;ksa dh flQkfj'k djrk gS 

(d) It recommends measures regarding the salary 

of government employees/ ;g ljdkjh deZpkfj;ksa 

ds osru ds laca/k esa mik;ksa dh flQkfj'k djrk gS 

96. Which of the given legislation gives 

constitutional status to three-tier Panchayati Raj 

system – / fn;k x;k dkSu lk dkuwu f=Lrjh; iapk;rh 

jkt O;oLFkk dks laoS/kkfud ntkZ nsrk gS & 

(a) 73rd constitutional amendment, 1993 / 73oka 
laoS/kkfud la'kks/ku] 1993 

(b) 72nd constitutional amendment, 1992 / 72oka 
laoS/kkfud la'kks/ku] 1992 

(c) 74th constitutional amendment, 1993 / 74oka 
laoS/kkfud la'kks/ku] 1993 

(d) 75th constitutional amendment, 1994 / 75oka 
laoS/kkfud la'kks/ku] 1994 

97. How does the Constitution of India describe 

India as – / Hkkjr dk lafo/kku Hkkjr dk o.kZu bl 

çdkj djrk gS & 

(a) A Union of States / jkT;ksa dk ,d la?k 

(b) A federation of States & Union Areas / jkT;ksa 
vkSj dsaæ 'kkflr çns'kksa dk ,d la?k 

(c) Bharatvarsh/ Hkkjro"kZ 

(d) A federated nation / ,d la?kh‟r jk"Vª 

98. The 1st State in India to implement Panchayati 

Raj System was / Hkkjr esa iapk;rh jkt O;oLFkk ykxw 

djus okyk igyk jkT; Fkk 

(a) Rajasthan / jktLFkku 

(b) Punjab/ iatkc 

(c) Gujarat / xqtjkr 

(d) Uttar Pradesh / mÙkj çns'k 

99. Which of the following article empowers the 

President to call for joint sitting of both houses?/ 
fuEufyf[kr esa ls dkSu lk vuqPNsn jk"Vªifr dks nksuksa 

lnuksa dh la;qä cSBd cqykus dk vf/kdkj nsrk gS\  

(a) Art 102/ vuqPNsn 102 

(b) Art 101/  vuqPNsn 101 

(c) Art 108 / vuqPNsn 108 

(d) Art 110/ vuqPNsn 110 

100. Which among the given exercised the most 

profound influence in framing the Indian 

Constitution – / fuEufyf[kr esa ls fdlus Hkkjrh; 

lafo/kku ds fuekZ.k esa lcls xgjk çHkko Mkyk & 

(a) US Constitution / vesfjdh lafo/kku 

(b) British Constitution / fczfV'k lafo/kku 

(c) Irish Constitution / vk;fj'k lafo/kku 

(d) The Government of India Act, 1935/ Hkkjr 
ljdkj vf/kfu;e] 1935 

101. Melanin is the natural pigment that gives colour 

to human skin, hair and the iris. It provides 

protection against:/ esysfuu çk‟frd jaxæO; gS tks 

ekuo Ropk] cky vkSj ifjrkfjdk dks jax nsrk gSA ;g 

buls lqj{kk çnku djrk gS% 

(a) Ultraviolet radiation/ijkcSaxuh fofdj.k 

(b) Infrared radiation/bUÝkjsM fofdj.k 

(c) X-ray radiation/ ,Dl&js fofdj.k 

(d)  Short wave radio radiation/ y?kq rjax jsfM;ks 

fofdj.k 

102. The term „ Probiotic‟ is applied:/ ^çksck;ksfVd^ 'kCn 

dk ç;ksx fd;k tkrk gS% 

(a) Organic food/ tSfod Hkkstu 

(b) Antacid/ ,aVkflM 

(c) Antibiotic/ ,aVhck;ksfVd 

(d) Live microbial food supplement/ ykbo 

ekbØksfc;y QwM lIyhesaV 

103. Which one of the following vitamins is 

synthesized in our own skin?/ fuEufyf[kr esa ls 

dkSu lk foVkfeu gekjh Ropk esa la'ysf"kr gksrk gS\ 

(a) Vitamin A/ foVkfeu A 

(b) Vitamin B/ foVkfeu B 

(c)  Vitamin C/ foVkfeu C 

(d) Vitamin D foVkfeu D 

104. Formation of thrombus in heart can lead to/ ân; 
esa FkzksEcl dk fuekZ.k gks ldrk gS 

(a)  Heart burning/ fny tyuk 

(b)  Heart attack/ fny dk nkSjk 

(c)  Heart blockage/ ân; esa #dkoV 

(d)  Heart failure/ fny dh foQyrk 

105. Hormone production is a function related to/ 
gkeksZu mRiknu lacaf/kr dk;Z gS 

(a) Hypothalamus/ gkbiksFkSysel 

(b) pons/ iksal 

(c) hippocampus/ fgIiksdSEil 

(d) medulla/ eTtk 



 

  

106. Which one of the following disease is not caused 

by virus?/ fuEufyf[kr esa ls dkSu lk jksx ok;jl ds 

dkj.k ugha gksrk gS\ 

(a) Chicken pox/ fpdu i‚Dl 

(b)  Measles/ [kljk 

(c)  Poliomyelitis/ iksfy;ksekbykbfVl 

(d)  Tetanus/ VsVul 

107. Which of the following are the possible blood 

groups of the parents with blood group O and 

AB?/ jä lewg O vkSj AB okys ekrk&firk ds 

laHkkfor jä lewg fuEufyf[kr esa ls dkSu ls gSa\ 

(a) O, A, B and AB/ O, A, B vkSj AB 

(b) A and B/ A vkSj B 

(c)  A, B and AB/ A, B vkSj AB 

(d)  O and AB/ O vkSj AB 

108. Biological catalysts in living organisms is known 

as?/ thfor thoksa esa tSfod mRçsjd dks dgk tkrk gS\ 

(a) Hormones/ gkeksZu 

(b) Vitamins/ foVkfeu 

(c)  Steroids/ LVsj‚;M 

(d)  Enzymes/ ,atkbe 

109. Which among the following is the hardest part of 

our body?/ fuEufyf[kr esa ls dkSu lk gekjs 'kjhj dk 

lcls dBksj Hkkx gS\ 

(a) Skull bones of head/  flj dh [kksiM+h dh gfì;k¡ 

(b) Thumb nails/ vaxwBs ds uk[kwu 

(c)  Enamel of teeth/ nkarksa dk busey 

(d)  Spinal vertebra/ jh<+ dh gìh 

110. What is „breakbone fever‟ most commonly 

known as?/  ^gìh rksM+ cq[kkj^ dks vke rkSj ij fdl 

uke ls tkuk tkrk gS\ 

(a) Typhoid/ VkbQkbM 

(b) Rhinitis/ jkbukbfVl 

(c) Yellow fever/ ihyk cq[kkj 

(d) Dengue/ Msaxw 
111. Isolines joining  places of equal raifallare called 

____________/ leku o"kkZ okys LFkkuksa dks tksM+us 

okyh vkblksykbuksa dks ____________ dgk tkrk gS 

(a) Isohyets/ vkblksgkbV~l 

(b) Isotherms/ btksVseZ 

(c) Isobars/ vkblkscklZ 

(d) Contours/ vk‟fr 

112. Which is not an Igneous Rock/ dkSu lh vkXus; 

pêku ugha gS 

(a) Dolomite/ MksyksekbV 

(b) Granite/ xzsukbV 

(c) Basalt/ cslkYV 

(d) Gabbro/ xScz 

113. If speed of rotation of the earth increases, the 

weight of the body/ ;fn ìFoh dh ?kw.kZu xfr c<+rh 

gS] rks fiaM dk Hkkj 

(a) Decreases/ ?kV tkrh gS 

(b) Increases/ c<+rk gS 

(c) Remains the same/ ogh jgrk gS 

(d) May increase or decrease/ c<+ ;k ?kV ldrk gS 

114. The land forms formed by wave erosion is: / rjax 
vijnu ls fufeZr Hkwfe :i gS% 

(a) Spit/ Fkwd 

(b) Beach/ leqæ rV 

(c) Cave/ xqQk 

(d) Barrier island/ cSfj;j }hi 

115. A drainage pattern where a river is joined by its 

tributaryies approximately at right angles is 

_______/ ,d ty fudklh iSVuZ tgka ,d unh viuh 

lgk;d ufn;ksa ls yxHkx ledks.k ij tqM+rh gS og 

_______ gS 

(a) Dendritic/ MsafMªfVd 

(b) Trellis/ Vªsfyl 

(c) Rectangular/ vk;rkdkj 

(d) Radial/ jsfM;y 

116. The core of the earth is also known as-/ i`Foh dh 

dksj dks Hkh dgk tkrk gS& 

(a) Lithosphere/ LFkyeaMy 

(b) Mesosphere/ eslksLQh;j 

(c) Barysphere/ cSjhLQs;j 

(d) Centrosphere/ lsaVªksLQh;j 

117. The rock that results from solidification of 

molten lava from a volcano is an example of 

which / Tokykeq[kh ls fi?kys gq, ykok ds teus ls 

mRiUu pêku fdldk mnkgj.k gS 

(a) Igneous rock / vkXus; pêku 

(b) Rranite rock/ jkukbV pêku 

(c) Basalt rock/ cslkYV pêku 

(d) Magnetite/ eSXusVkbV 

118. A broad, low embankment built up along the 

bank of a river channel during floods is called / 
ck<+ ds nkSjku unh pkSuy ds fdukjs cuk pkSM+k] fupyk 

rVca/k dgykrk gSA 

(a) Delta/ MsYVk 

(b) Levee/ ysoh 

(c) Flood plain/ ck<+ dk eSnku 

(d) Dune/ fVCck 
119. Winds blowing constantly in one direction in 

rocky deserts form / pêkuh jsfxLrku esa yxkrkj ,d 

fn'kk esa pyus okyh gok,¡ curh gSa 

(a) Chimneys/ fpeuh 
(b) Mushrooms rocks/ e'k:e pêkusa 

(c) Yardangs/  ;kMkaZXl 

(d) Demoiselles/ Mseksblsyst 

120. What is the mean temperature of earth/ iF̀oh dk 

vkSlr rkieku fdruk gS 

(a) 6 Degree Celsius/ 6 fMxzh lsfYl;l 

(b) 16 Degree Celsius/ 16 fMxzh lsfYl;l 

(c) 26 Degree Celsius/ 26 fMxzh lsfYl;l 

(d) 36 Degree Celsius/ 36 fMxzh lsfYl;l 

121. What is the position of the earth when it is at the 

greatest distance from the sun/ tc i`Foh lw;Z ls 

lokZf/kd nwjh ij gksrh gS rks mldh fLFkfr D;k gksrh gS\ 

(a) Aphelion/ vigsfy;u 

(b) Antipode/ ,aVhiksM 

(c) Perihelion/ isjhgsfy;u 



 

  

(d) Aldiate/ ,fYM,V 

122. The deflection of the winds to the right in the 

northern hemisphere is caused by:/ mÙkjh xksyk/kZ esa 

iouksa dk nkfguh vksj fo{ksi.k fdlds dkj.k gksrk gS\ 

(a) Revolution of the earth/ i`Foh dk ifjHkze.k 

(b) Rotation of the earth/ ìFoh dk ?kweuk 

(c) Uneven heating of the earth / iF̀oh dk vleku 

rkiu 

(d) All the above/ mijksä lHkh 

123. Atmospheric pressure exerted on earth is due to:/ 
i`Foh ij ok;qeaMyh; ncko fdlds dkj.k iM+rk gS\ 

(a) Rotation of earth / ìFoh dk ?kweuk 

(b) Revolution of earth/ ìFoh dh ifjHkze.k 

(c) Gravitational pull/ xq#Rokd"kZ.k f[kapko 

(d) Uneven heating of earth/ ìFoh dk vleku rkiu 

124. Which one has the highest wind velocity-/ fdlesa 

ok;q dk osx lokZf/kd gS& 

(a) Typhoon/ VkbQwu 

(b) Hurricane/gfjdsu 

(c) Cyclone/ pØokr 

(d) Tornado/ VksjuSMks 
125. Speed of wind is measured by/ gok dh xfr ekih 

tkrh gS 

(a) Barometer/ cSjksehVj 
(b) Hygrometer/ gkbxzksehVj 
(c) Thermomenter/ FkeksZesaVj 
(d) Anemometer/ ,uheksehVj 

126. Which one among the following are the correct 

symbols for the elements gold, tin and lead, 

respectively?/ -fuEufyf[kr esa ls dkSu lk Øe'k% lksuk] 

fVu vkSj lhlk rRoksa ds fy, lgh çrhd gSa\ 

(a)          

(b)          

(c)          

(d)            

127. How much percentage of carbon dioxide is 

present in the atmosphere of Venus and Mars?/ 
'kqØ vkSj eaxy xzg ds ok;qeaMy esa fdrus çfr'kr dkcZu 

Mkbv‚DlkbM ekStwn gS\ 

(a)        

(b)        

(c)        

(d)        

128. During white-washing of walls, slaked lime 

reacts slowly with carbon dioxide in air to form a 

thin layer of calcium carbonate on the walls. 

Which of the following reactions represents this 

correctly?/ nhokjksa dh lQsnh djrs le;] cq>k gqvk 

pwuk gok esa dkcZu Mkbv‚DlkbM ds lkFk /khjs&/khjs 

çfrfØ;k djds nhokjksa ij dSfY'k;e dkcksZusV dh ,d 

iryh ijr cuk nsrk gSA fuEufyf[kr esa ls dkSu lh 

çfrfØ;k bldk lgh çfrfuf/kRo djrh gS\ 

(a)    ( )     ( )       ( ) 
(b)    ( )     ( )       ( ) 
(c)   (  ) ( )     ( )       ( )  
   ( ) 

(d)   (  ) (  )     ( )       ( )  
   ( )  

129. Which of the following statements is correct 

about diamond and graphite?/ ghjs vkSj xzsQkbV ds 

ckjs esa fuEufyf[kr esa ls dkSu lk dFku lgh gS\ 

(a) Diamond and graphite have similar physical 

and chemical properties./ ghjs vkSj xzsQkbV ds HkkSfrd 

vkSj jklk;fud xq.k leku gSaA 

(b) Diamond is hard but graphite is smooth and 

slippery./ ghjk dBksj gksrk gS ysfdu xzsQkbV fpduk 

vkSj fQlyu Hkjk gksrk gSA 

(c) Diamond and graphite are both non-

conductors of electricity./ ghjk vkSj xzsQkbV nksuksa 

fo|qr ds dqpkyd gSaA 

(d) Both diamond and graphite have 

similar structures./ ghjk vkSj xzsQkbV nksuksa dh lajpuk 

leku gSA 

130. Which one of the following statements regarding 

acids is not correct?/ vEy ds laca/k esa fuEufyf[kr esa 

ls dkSu lk dFku lgh ugha gS\ 

(a) Hydrochloric acid is present in the gastric 

juice secreted by the stomach./ isV ls lzkfor 

xSfLVªd twl esa gkbMªksDyksfjd ,flM ekStwn gksrk gSA 

(b) Acetic acid is the main constituent of 

vinegar./ ,flfVd ,flM fljds dk eq[; ?kVd gSA 

(c) Oxalic acid is found in tamarind paste./ beyh 

ds isLV esa v‚Dlkfyd ,flM ik;k tkrk gSA 

(d) Lemon and orange juices contain citric acid 

and ascorbic acid respectively/ uhacw vkSj larjs ds 

jl esa Øe'k% lkbfVªd ,flM vkSj ,Ld‚fcZd ,flM gksrk 

gS 

131. Which of the following statements with regard to 

heating of lead nitrate powder over a flame are 

correct?/ ykS ij ysM ukbVªsV ikmMj dks xeZ djus ds 

laca/k esa fuEufyf[kr esa ls dkSu lk dFku lgh gS\ 

1. Brown fumes of    are released./    dk Hkwjk 

/kqvka fudyrk gSA 

2. Colourless   gas is released./  jaxghu   xSl 

fudyrh gSA 

3. It is an example of oxidation reaction./ ;g 
v‚Dlhdj.k vfHkfØ;k dk mnkgj.k gSA 

4. It is an example of thermal decomposition 

used for the production of     gas./ ;g    xSl 

ds mRiknu ds fy, mi;ksx fd, tkus okys FkeZy 

vi?kVu dk ,d mnkgj.k gSA 

Select the correct answer using the code given 

below./ uhps fn, x, dksM dk mi;ksx djds lgh mÙkj 

pqusaA 

(a) 1 and 2 / 1 vkSj 2 

(b) 2, 3 and 4/ 2] 3 vkSj 4 

(c) 1, 3 and 4/ 1] 3 vkSj 4 

(d) 2 and 4 only/ dsoy 2 vkSj 4 

132. What is the chemical composition of a soda-acid 

type fire extinguisher?/ lksMk&,flM çdkj ds 

vfXu'kked ;a= dh jklk;fud lajpuk D;k gS\ 



 

  

(a) Solution of sodium hydrogen carbonate and 

sulfuric acid/lksfM;e gkbMªkstu dkcksZusV vkSj 

lY¶;wfjd ,flM dk lek/kku 

(b) Solution of sodium carbonate and sulfuric 

acid/lksfM;e dkcksZusV vkSj lY¶;wfjd ,flM dk 

lek/kku 

(c) Solution of carbon dioxide and sulfuric acid / 
dkcZu Mkbv‚DlkbM vkSj lY¶;wfjd ,flM dk lek/kku 

(d) Solution of sodium chloride and sulfuric acid 

/lksfM;e DyksjkbM vkSj lY¶;wfjd ,flM dk lek/kku 

133. A solution contains 20 g of solute in 180 g of 

solvent. If the solvent is water, what is the 

concentration of the solution in terms of mass by 

mass percentage?/ ,d ?kksy esa 180 xzke foyk;d esa 

20 xzke foys; gksrk gSA ;fn foyk;d ikuh gS] rks 

æO;eku çfr'kr ds lanHkZ esa lek/kku dh lkaærk D;k gS\ 

(a) 11.1% 

(b) 22.2% 

(c) 10% 

(d) 20% 

134. Find the Equivalent weight of    (   )  if its 

molecular mass is M./ ;fn    (   )  dk vk.kfod 

æO;eku M gS rks bldk lerqY; Hkkj Kkr dhft,A 

(a) M/3 

(b) M/2 

(c) M/5 

(d) M/6 

135. Which one of the following is NOT a synthetic 

detergent?/ fuEufyf[kr esa ls dkSu lk flaFksfVd 

fMVtsaZV ugha gS\ 

(a)    (   )         
     

(b) [   (   )     (   ) ]
     

(c)    (   )      
     

(d)    (   )     (       )          

136. Which compound acts as oxidising agent only?/ 
dkSu lk ;kSfxd dsoy v‚Dlhdj.k ,tsaV ds :i esa dk;Z 

djrk gS\ 

(a)      

(b)      

(c)        

(d)       
137. When magnesium is burnt, heat and light are 

produced. The burning of magnesium is / 
tc eSXuhf'k;e dks tyk;k tkrk gS rks Å"ek vkSj çdk'k 

mRiUu gksrk gSA eSXuhf'k;e dk tyuk  

(a) Reversible change/ çfrorhZ ifjorZu gS 

(b) Physical change/ HkkSfrd ifjorZu 

(c) Chemical and exothermic change/ jklk;fud 

vkSj Å"ek{ksih ifjorZu 

(d) Chemical and endothermic change/ jklk;fud 

vkSj ,aMksFkfeZd ifjorZu 

138. What did Joseph Proust state regarding Law of 

Definite Proportions?/ fuf'pr vuqikr ds fu;e ds 

laca/k esa tkslsQ çkmLV us D;k dgk\ 

(a) A given mixture always contains absolutely 

the same proportion of elements by weight/ fdlh 

fn, x, feJ.k esa ges'kk otu ds fglkc ls rRoksa dk 

vuqikr fcYdqy leku gksrk gS 

(b) A given compound always contains 

absolutely the same proportion of moles by 

weight/ fdlh fn, x, ;kSfxd esa ges'kk otu ds 

fglkc ls eksyksa dk vuqikr fcYdqy leku gksrk gS 

(c) A given compound always contains 

absolutely the same proportion of elements by 

volume/ fdlh fn, x, ;kSfxd esa vk;ru ds vuqlkj 

rRoksa dk vuqikr ges'kk leku gksrk gS 

(d) A given compound always contains 

absolutely the same proportion of elements by 

weight/ fdlh fn, x, ;kSfxd esa ges'kk otu ds fglkc 

ls rRoksa dk vuqikr fcYdqy leku gksrk gS 

139. Which fertilizer produces fertility in the soil?/ 
dkSu lk moZjd feêh esa moZjrk iSnk djrk gS\ 

(a) Ammonium Sulfate/ veksfu;e lYQsV 

(b) Sodium Nitrate/ lksfM;e ukbVªsV 

(c) Magnesium Nitrate/ eSXuhf'k;e ukbVªsV 

(d) None of the Above/ mijksä esa ls dksbZ ugha 

140. Consider the following statements regarding 

Hydrogen and choose the incorrect statement./ 
gkbMªkstu ds laca/k esa fuEufyf[kr dFkuksa ij fopkj djsa 

vkSj xyr dFku pqusaA 

(a) It is soluble in water./ ;g ikuh esa ?kqyu'khy gSA 

(b) It is tasteless gas./ ;g csLokn xSl gSA 

(c) It is relatively inert at room temperature./ ;g 

dejs ds rkieku ij vis{kk‟r fuf"Ø; gSA 

(d) Dihydrogen reduces copper (II) oxide to 

copper./ MkbgkbMªkstu d‚ij (II) v‚DlkbM dks d‚ij 

esa de dj nsrk gS 

141. Which country hosted the 'Dosti-16' trilateral 

exercise involving India, Maldives, and Sri 

Lanka?/ Hkkjr] ekynho vkSj Jhyadk dks 'kkfey djrs 

gq, ^nksLrh&16^ f=i{kh; vH;kl dh estckuh fdl ns'k 

us dh\ 

(a) Maldives/ ekynho 

(b) India/ Hkkjr 

(c) Sri Lanka/ Jhyadk 

(d) Bangladesh/ ckaXykns'k 

142. Which city is being transformed into India's 

inaugural tri-service common defence station?/ 
fdl 'kgj dks Hkkjr ds mn~?kkVu f=&lsok lkekU; j{kk 

LVs'ku esa ifjofrZr fd;k tk jgk gS\ 

(a) Delhi/ fnYyh 

(b) Bangalore/ cSaxyksj 

(c) Mumbai/ eqacbZ 

(d) Chennai/ psUubZ 
143. What is the Indian Air Force showcasing during 

the 'Gagan Shakti-2024' exercise?/ ^xxu 
'kfä&2024^ vH;kl ds nkSjku Hkkjrh; ok;q lsuk D;k 

çnf'kZr dj jgh gS\ 

(a) Training maneuvers/ çf'k{k.k ;q)kH;kl 

(b) Logistic operations/ y‚ftfLVd lapkyu 

(c) Humanitarian missions/ ekuoh; fe'ku 

(d) High-octane operation/ gkbZ&v‚DVsu v‚ijs'ku 

144. Where did the India-Mozambique-Tanzania 

Trilateral Exercise conclude?/ 



 

  

Hkkjr&ekstkfEcd&ratkfu;k f=i{kh; vH;kl dgk¡ laiUu 

gqvk\ 

(a) Mozambique/ ekstkfEcd 

(b) Tanzania/ ratkfu;k 

(c) India/ Hkkjr 

(d) South Africa/ nf{k.k vÝhdk 

145. What was the name of the METOC seminar 

organized by the School of Naval Oceanology & 

Meteorology (SNOM) and the Indian Naval 

Meteorological Analysis Centre (INMAC)?/ 
ukSlsuk leqæ foKku vkSj ekSle foKku Ldwy 

¼,l,uvks,e½ vkSj Hkkjrh; ukSlsuk ekSle foKku 

fo'ys"k.k dsaæ ¼vkbZ,u,e,lh½ }kjk vk;ksftr 

,ebZVhvkslh lsfeukj dk uke D;k Fkk\ 

(a) Climate Frontline-24/ DykbesV ÝaVykbu&24 

(b) Oceanic Insights/ leqæh var„Zf"V 

(c) Meghayan-24/ es?k;ku&24 

(d) Meteorological Focus/ ekSle laca/kh Qksdl 

146. Where did the India- Mozambique-Tanzania 

Trilateral Exercise conclude?/ 
Hkkjr&ekstkfEcd&ratkfu;k f=i{kh; vH;kl dgk¡ laiUu 

gqvk\ 

(a) Mozambique/ ekstkfEcd 

(b) Tanzania/ ratkfu;k 

(c) India/ Hkkjr 

(d) South Africa/ nf{k.k vÝhdk 

147. What was the name of the METOC seminar 

organized by the School of Naval Oceanology & 

Meteorology (SNOM) and the Indian Naval 

Meteorological Analysis Centre (INMAC)?/ 
ukSlsuk leqæ foKku vkSj ekSle foKku Ldwy (SNOM) 
vkSj Hkkjrh; ukSlsuk ekSle foKku fo'ys"k.k dsaæ 

(INMAC)}kjk vk;ksftr ,ebZVhvkslh lsfeukj dk uke 

D;k Fkk\ 

(a) Climate Frontline-24/DykbesV ÝaVykbu&24 

(b) Oceanic Insights/leqæh var„Zf"V 

(c) Meghayan-24/ es?k;ku&24 

(d) Meteorological Focus/ ekSle laca/kh Qksdl 

148. Which country's aerospace and defence company 

set up an Indian subsidiary named AeroSpace 

Services India (ASI)?/ fdl ns'k dh ,;jksLisl vkSj 

j{kk daiuh us ,;jksLisl lfoZlst bafM;k (ASI) uked 

,d Hkkjrh; lgk;d daiuh dh LFkkiuk dh\ 

(a) United States/ la;qä jkT; vesfjdk 

(b) United Kingdom/ ;wukbVsM fdaxMe 

(c) Russia/ :l 

(d) Israel/ btjkby 

149. Where is the physical segment of the first Army 

Commanders' Conference for the year 2024 

being held?/ o"kZ 2024 ds igys lsuk dekaMjksa ds 

lEesyu dk HkkSfrd [kaM dgk¡ vk;ksftr fd;k tk jgk 

gS\ 

(a) Mumbai/eqacbZ 

(b) New Delhi/ubZ fnYyh 

(c) Kolkata/dksydkrk 

(d) Bengaluru/csaxyq# 

150. Which navy will receive the nuclear-powered 

submarines under the AUKUS partnership?/ 
AUKUS lk>snkjh ds rgr fdl ukSlsuk dks ijek.kq 

ÅtkZ ls pyus okyh iuMqfCc;ka çkIr gksaxh\ 

(a) Royal Australian Navy/j‚;y v‚LVªsfy;kbZ 

ukSlsuk 

(b) United States Navy/la;qä jkT; vesfjdk dh 

ukSlsuk 

(c) Royal Navy UK/j‚;y usoh ;wds 

(d) Indian Navy/Hkkjrh; ukSlsuk 
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